



Laplace q -Transform of Trigonometric Functions

¹Jaslin. C, ²Dominic Babu. G

¹Ph.D Scholar (Reg.No:20113012092003) and ²Associate Professor

^{1,2}P.G and Research Department of Mathematics,

Annai Vellankanni College,

Tholayavattam - 629187, Kanyakumari District, Tamil Nadu, S.India.

Affiliated to Manonmaniam Sundaranar University,

Abishekapatti, Tirunelveli-627012, Tamilnadu, India;

¹jaslinjas24@gmail.com and ²dominicbabu202@gmail.com

Article History: Received: 11.05.2023

Revised: 12.06.2023

Accepted: 23.06.2023

Abstract : In this paper, we obtain the extorial and trigonometric functions using the Laplace q -Transform, suitable examples are inserted to illustrate the main results.

Key words: Laplace q -Transform, Difference operator, Inverse difference operator, Extorial functions, Trigonometric functions.

INTRODUCTION

The most crucial idea in mathematics in trigonometry, and its applications are incredibly widespread in daily life. Trigonometry has a wide range of immediate applications wheter it be in the domains of Aviation, Physics, Ariminology or the military among others, it is crucial. Finding the triangles angles or sides is done using trigonometry examines how a triangle's and sides relate to one another. Trigonometry can be used to determine the heights of enormous mountains or structures. It is commonly used in Physics, Architecture between stars and plants. In this paper, we present the extorial and trigonometric functions using the Laplace q -transform.

2. Preliminaries

This section focuses on the basic definition of the q -difference operator.

Definition 2.1. If n and q are any two positive integer, then the generalized positive polynomial factorial is defined as

$$k_q^{(n)} = k(k - q)(k - q^2) \cdots (k - q^{n-1}) \text{ and } k_q^{(0)} = 1; k_q^{(1)} = k \quad (1)$$

Definition 2.2. If $u(k)$ is a sequence of numbers and q is any positive integer, then we define the generalized difference operator Δq as

$$\Delta q u(k) = u(kq) - u(k) \quad (2)$$

Definition 2.3. Let $q > 0$ and $u(k), v(k)$ are real valued bounded functions. Then

$$\Delta_q^{-1} (u(kq) - u(k)) = u(k)\Delta_q^{-1}v(k) - \Delta_q^{-1}(\Delta_q^{-1}v(kq) \cdot \Delta q u(k)) \quad (3)$$

Definition 2.4. Let $q > 0, u(k)$ be a real valued functions on $[0, 1)$. Then

$$\sum_{r=0}^m u(kq^r) = \Delta_q^{-1}u(k) \Big|_{kq^m}^k \quad (4)$$

Definition 2.5. Let $k \in [0; 1)$ and $q > 0$ then

$$\sin k_q^{(1)} = k_q^{(1)} - \frac{k_q^{(3)}}{3!} + \frac{k_q^{(5)}}{5!} - \frac{k_q^{(7)}}{7!} + \cdots \quad (5)$$

Definition 2.6. Let $k \in [0; 1)$ and $q > 0$ then

$$\sin(ak)_q^{(1)} = (ak)_q^{(1)} - \frac{(ak)_q^{(3)}}{3!} + \frac{(ak)_q^{(5)}}{5!} - \frac{(ak)_q^{(7)}}{7!} + \cdots \quad (6)$$

Definition 2.7. Let $k \in [0; 1)$ and $q > 0$ and $k_q^{(n)}$ be a n^{th} power of polynomial factorial, then

$$\sin k_q^{(n)} = k_q^{(n)} - \frac{k_q^{(3n)}}{3!} + \frac{k_q^{(5n)}}{5!} - \frac{k_q^{(7n)}}{7!} + \cdots \quad (7)$$

3. Laplace q -Transform of sine Function

In this section, we define Laplace q -transform of sine function and results using the operator Δ_q^{-1} and present the examples to examine their results.

Lemma 3.1. If $e^{-skq^r} \neq 0$ and $q > 0$ then the Laplace q -transform of sine function is

$$L_q \left(\sin(k)_q^{(1)} \right) = (1 - q) \left\{ k \sin(k)_q^{(1)} \sum_{r=0}^{\infty} e^{-skq^r} + \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-skq^{t+r+1}} \left(kq^{t+1} \sin(kq^{t+1})_q^{(1)} - kq^t \sin(kq^t)_q^{(1)} \right) \right) \right\} \quad (8)$$

Proof. Let $u(k) = \sin(k)_q^{(1)}$ in difference equation we obtain,

$$\begin{aligned} L_q \sin(k)_q^{(1)} &= (q - 1) \Delta_q^{-1} k \sin(k)_q^{(1)} e^{-sk} \Big|_0^{\infty} \\ &= (q - 1) \Delta_q^{-1} \left(k_q^{(1)} - \frac{k_q^{(3)}}{3!} + \frac{k_q^{(5)}}{5!} - \frac{k_q^{(7)}}{7!} + \dots \right) e^{-sk} \Big|_0^{\infty} \end{aligned} \quad (9)$$

Separate the terms and using the equations (1), (2), (3) and (4)

$$\begin{aligned} \Delta_q^{-1} k k_q^{(1)} e^{-sk} \Big|_0^{\infty} &= \left[\Delta_q^{-1} k k_q^{(1)} \Delta_q^{-1} e^{-sk} - \Delta_q^{-1} \left(\Delta_q^{-1} e^{-skq} \Delta_q k k_q^{(1)} \right) \right] \Big|_0^{\infty} \\ &= k k_q^{(1)} \sum_{r=0}^{\infty} e^{-skq^r} - \Delta_q^{-1} \left[- \sum_{r=0}^{\infty} e^{-skq^{r+1}} \left(kq(kq)_q^{(1)} - k(k)_q^{(1)} \right) \right] \Big|_0^{\infty} \\ &= -k k_q^{(1)} \sum_{r=0}^{\infty} e^{-skq^r} + \sum_{t=0}^{\infty} \left[- \sum_{r=0}^{\infty} e^{-skq^{t+r+1}} \left(kq^{t+1}(kq^{t+1})_q^{(1)} - kq^t(kq^t)_q^{(1)} \right) \right] \end{aligned} \quad (10)$$

Also,

$$\Delta_q^{-1} \frac{k k_q^{(3)}}{3!} e^{-sk} \Big|_0^{\infty} = \frac{1}{3!} \left[k k_q^{(3)} \Delta_q^{-1} e^{-sk} - \Delta_q^{-1} \left(\Delta_q^{-1} e^{-skq} \Delta_q k k_q^{(3)} \right) \right] \Big|_0^{\infty}$$

we get the equation,

$$\begin{aligned} \Delta_q^{-1} \frac{k k_q^{(3)}}{3!} e^{-sk} \Big|_0^{\infty} &= \frac{1}{3!} \left[-k k_q^{(3)} \sum_{r=0}^{\infty} e^{-skq^r} \right. \\ &\quad \left. - \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-skq^{(t+r+1)}} \left(kq^{t+1}(kq^{t+1})_q^{(3)} - kq^t(kq^t)_q^{(3)} \right) \right) \right] \end{aligned} \quad (11)$$

Replace $\frac{k_q^{(3)}}{3!}$ by $\frac{k_q^{(5)}}{5!}$ in equation (11) we get,

$$\Delta_q^{-1} \frac{k k_q^{(5)}}{5!} e^{-sk} \Big|_0^{\infty} = \frac{1}{5!} \left[-k k_q^{(5)} \sum_{r=0}^{\infty} e^{-skq^r} \right.$$

$$- \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-skq^{(t+r+1)}} \left(kq^{t+1}(kq^{t+1})_q^{(5)} - kq^t(kq^t)_q^{(5)} \right) \right) \quad (12)$$

Applying the process mentioned above, we get

$$\Delta_q^{-1} \frac{k k_q^{(7)}}{7!} e^{-sk} \Big|_0^{\infty} = \frac{1}{7!} \left[-k k_q^{(7)} \sum_{r=0}^{\infty} e^{-skq^r} - \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-skq^{(t+r+1)}} \left(kq^{t+1}(kq^{t+1})_q^{(7)} - kq^t(kq^t)_q^{(7)} \right) \right) \right] \quad (13)$$

Substituting equation (10) to (13) in (9) we get,

$$\begin{aligned} L_q \left(\sin(k)_q^{(1)} \right) &= (1 - q) \left\{ \left[-k k_q^{(1)} \sum_{r=0}^{\infty} e^{-skq^r} - \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-skq^{(t+r+1)}} \left(kq^{t+1}(kq^{t+1})_q^{(1)} - kq^t(kq^t)_q^{(1)} \right) \right) \right] \right. \\ &\quad - \frac{1}{3!} \left[-k k_q^{(3)} \sum_{r=0}^{\infty} e^{-skq^r} - \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-skq^{(t+r+1)}} \left(kq^{t+1}(kq^{t+1})_q^{(3)} - kq^t(kq^t)_q^{(3)} \right) \right) \right] \\ &\quad + \frac{1}{5!} \left[-k k_q^{(5)} \sum_{r=0}^{\infty} e^{-skq^r} - \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-skq^{(t+r+1)}} \left(kq^{t+1}(kq^{t+1})_q^{(5)} - kq^t(kq^t)_q^{(5)} \right) \right) \right] \\ &\quad - \frac{1}{7!} \left[-k k_q^{(7)} \sum_{r=0}^{\infty} e^{-skq^r} - \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-skq^{(t+r+1)}} \left(kq^{t+1}(kq^{t+1})_q^{(7)} - kq^t(kq^t)_q^{(7)} \right) \right) \right] + \dots \left. \right\} \end{aligned}$$

$$\begin{aligned}
&= (1-q) \left\{ \left(k k_q^{(1)} - \frac{k k_q^{(3)}}{3!} + \frac{k k_q^{(5)}}{5!} - \frac{k k_q^{(7)}}{7!} + \dots \right) \sum_{r=0}^{\infty} e^{-s k q^r} \right. \\
&\quad - \sum_{t=0}^{\infty} \left[\sum_{r=0}^{\infty} e^{-s k q^{t+r+1}} k q^{t+1} \left[\frac{(k q^{t+1})_q^{(1)}}{1!} - \frac{(k q^{t+1})_q^{(3)}}{3!} + \frac{(k q^{t+1})_q^{(5)}}{5!} \right. \right. \\
&\quad \left. \left. - \frac{(k q^{t+1})_q^{(7)}}{7!} + \dots \right] - k q^t \left[\frac{(k q^{t+1})_q^{(1)}}{1!} - \frac{(k q^{t+1})_q^{(3)}}{3!} + \frac{(k q^{t+1})_q^{(5)}}{5!} \right. \right. \\
&\quad \left. \left. - \frac{(k q^{t+1})_q^{(7)}}{7!} + \dots \right] \right\}
\end{aligned}$$

which yields the proof.

Theorem: 3.2 If $e^{-s k q^{t+r+1}} \neq 0$ and $q > 0$ then the Laplace q -transform of sine function is

$$\begin{aligned}
L_q(\sin(ak)_q^{(1)}) &= (1-q) \left\{ k \sin(ak)_q^{(1)} \sum_{r=0}^{\infty} e^{-s k q^{t+r+1}} \right. \\
&\quad \left. + \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-s k q^{t+r+1}} k q^{t+1} \sin(ak q^{t+1})_q^{(1)} - k q^t \sin(ak q^t)_q^{(1)} \right) \right\} \quad (14)
\end{aligned}$$

Proof. Replacing $\sin k_q^{(1)} = \sin(ak)_q^{(1)}$ in the previous Lemma 3.1, we get the proof.

Theorem: 3.3 If $e^{-s k q^r} \neq 0$ and $q > 0$ then the Laplace q -transform of n^{th} power of sine function is

$$\begin{aligned}
L_q(\sin(ak)_q^{(n)}) &= (1-q) \left\{ k \sin(ak)_q^{(n)} \sum_{r=0}^{\infty} e^{-s k q^{t+r+1}} \right. \\
&\quad \left. + \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-s k q^{t+r+1}} k q^{t+1} \sin(ak q^{t+1})_q^{(n)} - k q^t \sin(ak q^t)_q^{(n)} \right) \right\} \quad (15)
\end{aligned}$$

Proof. Replace $\sin k_q^{(1)}$ by $\sin(ak)_q^{(2)}$ in equation (8), and using (7) and (10) we arrive.

$$\begin{aligned}
L_q(\sin(ak)_q^{(2)}) &= (1-q) \left\{ k \sin(ak)_q^{(2)} \sum_{r=0}^{\infty} e^{-s k q^{t+r+1}} \right. \\
&\quad \left. + \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-s k q^{t+r+1}} k q^{t+1} \sin(ak q^{t+1})_q^{(2)} - k q^t \sin(ak q^t)_q^{(2)} \right) \right\} \quad (16)
\end{aligned}$$

Replace $\sin k_q^{(1)}$ by $\sin(ak)_q^{(3)}$ in equation (8), and using (7) and (10) we obtain

$$L_q\left(\sin(ak)_q^{(3)}\right) = (1-q) \left\{ k \sin(ak)_q^{(3)} \sum_{r=0}^{\infty} e^{-skq^{t+r+1}} + \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-skq^{t+r+1}} kq^{t+1} \sin(akq^{t+1})_q^{(3)} - kq^t \sin(akq^t)_q^{(3)} \right) \right\} \quad (17)$$

Replace $\sin k_q^{(1)}$ by $\sin(ak)_q^{(4)}$ in equation (8), and using (7) and (10), we arrive.

$$L_q\left(\sin(ak)_q^{(4)}\right) = (1-q) \left\{ k \sin(ak)_q^{(4)} \sum_{r=0}^{\infty} e^{-skq^{t+r+1}} + \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-skq^{t+r+1}} kq^{t+1} \sin(akq^{t+1})_q^{(4)} - kq^t \sin(akq^t)_q^{(4)} \right) \right\} \quad (18)$$

By repeating the process n times, we get

$$L_q\left(\sin(ak)_q^{(n)}\right) = (1-q) \left\{ k \sin(ak)_q^{(n)} \sum_{r=0}^{\infty} e^{-skq^{t+r+1}} + \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-skq^{t+r+1}} kq^{t+1} \sin(akq^{t+1})_q^{(n)} - kq^t \sin(akq^t)_q^{(n)} \right) \right\} \quad (18)$$

Corollary: 3.4 If $e^{-skq^{t+r+1}} \neq 0$ and $q > 0$ then the Laplace q -transform of sine function is

$$L_q\left(\sin(ak)_q^{(n)}\right) = (1-q) \left\{ k \sin(ak)_q^{(n)} \sum_{r=0}^{\infty} e^{-skq^r} + \sum_{t=0}^{\infty} \left(\sum_{r=0}^{\infty} e^{-skq^{t+r+1}} kq^{t+1} \sin(akq^{t+1})_q^{(n)} - kq^t \sin(akq^t)_q^{(n)} \right) \right\} \quad (19)$$

Proof. The proof follows from taking $\sin k_q^{(n)} = \sin(akq^t)_q^{(n)}$ in equation (16), we get the proof of the corollary.

Conclusion:

In this paper we have developed the discrete Laplace q -transform for sine function. The given example shows the values of Laplace q -transform for sine function.

References

1. Akca. H; Benbourenane .J, Eleuch.H. *The q -derivative and differential equation* J.Phys.conf.ser. 2019,1411, 012002 [cross Ref]

2. Adams. C.R *On the Linear Ordinary q -Difference Equation*. Ann. Math 1928, 30,195.
[Cross Ref]
3. Carmichale R.D. *The General Theory of Linear q -Difference Equations*. Am I Math 1912, 34, 147 [Cross Ref]
4. Jackson F.H *q -Difference equations*. Am.J. Math 1910, 32, 305-314 [Cross Ref]
5. Mason T.E *On Properties of the solutions od Linear q -Difference Equations with Entire Function coefficients*. Am. J. Math. 1915, 37, 439 [cross Ref]
6. Maria Susai Mamuel .M, Chandrasekar, V. *Solutions and Applications of certain class of α -difference equations*. Int.J. Appl. Math 2011, 24, 943-954.
7. Britto Antony Xavier, G. Gerly, T.G. Begum, N.H *Finite series of polynomials and polynomial factorials arising from generalized q -Difference operator*. For East J.Math. Sci(FJMS) 2014, 94,47-63.